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COMPUTER COMMUNICATION
I’A !< -1

fraifa wm : Vo | | (SR 5% : 30
Time allowed : %2 Hour] - [Maximum Marks : 30
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Note ; " All Questions are compulsory and each question is of 1 mark.

(i) - gF srra F s 017 = Rty F siaoh age g ar &
* Only English version is valid in case of dtﬁ’erence in both the. languages

1 ﬁwﬁﬁﬂammﬁﬁm#ﬁmﬁa 1. Which of the following is not the
i datiEr possible ways of data exchange ?
@ R © (a) Simplex
(b) weEE : (b) Multiplex
€ SEgw (c) Half-duplex
&) g (@ Full-duplex
2 FTewmsAFG__ W wﬂvr S :
2.  For error detection _____ is used by
J T S (TCP’“’ ) R f the higher layer protocols (TCP/IP).
st | | (@) Bit-sum '
@) R - ()  Exror bit
?:)) g:i ' | . (c) Check-sum
( &) i (d) Data-sum
3. wfedersosi et ®) e e A 3. gsrlel:::dwerl bpm? ' tcs.i'n which layer of
(a) q?;i;;?a (a) Physical layer
®) T ~(b) Transport layer
(© ‘mm - () Network layer
@ s T (d) Data Link layer

@) - . . P.T.O.
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What is the advantage of the

®)
©
@

‘computer networking ?
(a),

File sharing -

Easier access to resources
Easier backups

All of the above

MAC address is the example of

(a)'

)]
()
d)

Transport layer
Application layer )
Data Link layer |
Physical layer

.. Which of the following is nbt a

networking device ?

(@)
®)

()

(d

Switch
Router
Linux -

What does protocoi' 'd"eﬁhes ?

(a)

- ®

©

@)

Protocol defines how data is
communicated.

Protocol defines when data is
communicated . -

Protocol defines what data is
communicated.

All of the above.



EF309/EL309

- 10.

11.

W maﬁmﬁaﬁm
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(@) TR S, e sfew

(b) mmm
() e, T8 g et
(@ I | it

. e Em A E e

(a) mmmw@wmcﬁwﬁm
| TR

(b) ol weba 1 Rewfger e

. (qmahﬁ‘&vﬂzm

(¢) Tl i o wHige oo Rewige
e 2o

Q) i } HiE

(o CSMA -
(a) gwuﬁ&ﬁﬁwmﬁﬁam
|

P

e s wvene S wRar ¥ |

© HemmdrwimEm

@ o & R p wfas %

Py ¥ R T o S O

¥

(@) Hhwse $oR R
(b) S e o
(€ ey oy weEn

(@ Pivhe WK

&)

10.

1L

_ (a) Tropospheric

2148

_ cable can carry signals of
higher frequency ranges than
cable. '

(a) Twisted pair, fiber-optic
(b) Coaxial, fiber-optic

"(c) Coaxial, twisted pair

(d) None of the above

Basic function pf a MODEM is

(@ t modulate a signal (digital to

. analog)

(b) to demodulate a signal (analog
to digital)

(c) both modulate & demodulate a
signal

(d) None of these

In 1-persistent CSMA

(a) station transmits if channel is
idle

(b) station transmits after avrandom
amount of time, if channel is idle

(c) - Transmits when channel is busy

(d) Station  transmits  with
probability P, if ct_lannel_ isidle

Which one of the following is not an

example of unguided medium ?

communication
link '

(b) Satellite communication link

(c) Optiéal fiber communication

(d) Troposcatter

communication

P.T.O.
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Error detection at the data link level _
is achieved by

(a) Bit stuffing

(b) Cyclic redundancy check
(c) Hamming code

(d) Equalization

‘Start & stop bits are used in serial

communication for
(a) Error detection '
(b) Synchronization

- (0 Error correction

(d) Slowing down the .
communication

The topology with hlghest rehablhty'
is

(a) Mesh topology ..

(b) Ring topology. - -
(c) Star topology- - -'-
(d) Bus topology . -

Which one of the following task is
not done by data ligk layer ?

.(a) Fraxmng

(b) Flow control.

. (¢) Channel coding

(d) Error control
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©
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17,

18,

19,

2148

The technique of temporarily
delaying outgoing acknowledgements
so that they can be hooked onto the
next outgoing data frame is called .

(2) Piggy backing
(b) Cyclic redundancy check

~(c) " Fletcher’s checksum

(d) None of the above

The maximum throughput for pure

(a) 36.8%
(b) 12.2%
) 184%
(d) None of these

In ___ method, no station is
superior to anpther station and none
is assigned the control over another,

(a) controlled acc_ess
®
(c) channelization

(d) None of the above

random access

In __ . each packet is treated
independently of other packets.

(a) virtual circuit packet switching
) '
() circuit switching
@ ’

datagram packet switching

message switching

P.T.O.
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20.
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2,

2148

A spanmng tree is a graph in wh1ch .
thereisno

(a) arc "
(b) node
(c) loop .
(d) branch

A is a three layer device that -
handles packets based on their logical

. addresses.

(@) Router
() Bridge
(c) Repeater _

(d) Gateway

is a packet sent by a node

to the source to based it of

congestion. - o
(a) Backpressure o
(b) Choke packet

(c) Tmplicit signallinig ™
(d) Explicit signalling - 7

In ISDN, BRI (Basic rate interface)
consists of

(@) Four B chamnels & two D
channels : :

(b) Two- B channels & one D
channel :

(¢) Twenty-three B channels & one
D channel

(d) Thirty B channels & one D
channel

ey v
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24,

25,

. 26"4

27,
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(a) WTHEH 10
(b) 10F%

() 10 ¥ wawET
@ wEIBEE

HDLC | e |

() T TR A FER

©) o wR e R iAo
(©) ok g Rt fo frdoor
) ﬂwftwm

% | ARQ & ¥t T §T T T gY

P i gt e & 7

(@) AN ARQ °
() Sofee fude ARQv
(c)- VyE d ARQ

(@) SR

HDLC ¥ fiefta e %t it et et
= B e €

(2 W

(b) TG

© W -
(@ I d Wt

-

)

25,

- 26,

27,

24,

- 2148
- For stop-and-wait ARQ, for 10
packets sent
acknowledgements are needed.

(a) exactly 10
(b) lessthan 10
(c) more than 10

(d) None of the abdvg

HDLC is an acronym for __

(a) High-Duplex Line Communication

®) High-level Data Link Control

-(¢) Half-duplex Digital Link Control

(d) Host Double-Level Circuit

Which ARQ mechanism deals with
the retransmission of only damaged

© or lost frames ?
. (a) Go-back-N ARQ

(b) Selective Repeat ARQ

(c)  Stop & Wait ARQ

(d) All of the above .

What are the frames issued by the

 secondary station of HDLC, known

as?

- (a) Link

(b) Command
() Response -
(d) None of the above

P.T.O.

‘.-\»,



EF309/EL309 ® 2148

28, X.25 W S OSI %) feeet T war vl 28. How many OSI layers are covered in .
£ | ‘the X.25 standard ?
@ @ Two
() o () Six
© d () Three
@ W (@) Four
29. ﬁﬁﬁﬂlﬁ?w} mﬁa};ﬁmm | 29. The 'process of interconnecting -
nEaE: different networks is called
(3@ mﬁz . _ (a) Internet
'(b) R Sseriy o (b) Internetwork
(c).' A R ~ (© Network o
© e | @ Iotemewvorking
30. wﬁwmﬁmiﬁm - 30. _is a networkk that covers
mmwﬁmtﬁmm : geographical areas that are larger
IR | - suchas d:smets or cities:”
@ LAN @ LAN
() MAN . | ® maN
© WAN - @ way
@ vAIREW | @ Nomeot these
X \
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COMPUTER COMMUNICATION
PART-H
Fvaifer were : wir viZ) | | L (i S 70
Time allowed : Three Hours] | | [Maximum Marks : 70

we: () e s & o @ et e e e
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) 5o 5T % W 9P 8 A O W Ko PPN |
Solve all parts of a question consecutively together.
(i) e W g R e i
~ Start each question on a fresh page.
(tv) st s sF v et e Rafer sF oot s b 1
Only English version is valid in case of difference in both the languages.

L@ et dof stee 5 zrodd w9 ieater o R |
' - Write name of two protocols of transport layer in TCP/IP reference model.
() N bR W v e |
- Write apy two applications of N ISDN. -
(i) T AT e w S fe Rt g % v swiften et Bt e
What is line utilization without errors for stop and wait retransmission
-technique ? ‘
Gv) W R s TR
What is meant by framing ? |
(v) RS9 eyt v e ot
' Write impedance and use of RG59 cable. _ (2x5) -
o) | - - RTO.
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3.

Explain ISDN System Architecture.

(i) Prfafes = T

(@)

(i) o demd Qdmifmal & W R Bret koot & R wARE
Compare different network topologies based on following properties : .

Explain the following :
(a) e wfem
Bit stuffing

(b) TR

Character stuffing

W ¥t e wr Rl |

Write any eight functions of Protocol.

(a) wEH
Connection '

(b) N e & R sl wwr
Physical links for N nédes

() N ey ¥ g 10 HiEm i e

VO Ports requirement for N nodes.
(@ ¥
Cost

(o) el

~ Reliability

Fault isolé.,tion
(g) yfwmi it siten & g2
Add or delete devices

(h) AR

Reconfiguration

2148

@®

(3>2)

C)

- (1x8)
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4. Prefefe  avi HiR
* Explain the following : -
() Teduad ¥ i ey
Different modes of HDLC.
() Twded FRRE T
Different frame structures of HDLC.
5. () e vt fefd |
Write Dijkstra’s algorithm. -
(i) mww%mmﬂww -

‘Explain different types of serial transmission.
6 () e o G St o R |
~ Explain ALOHA and slotted ALOHA.

(i) diﬁzmmmwmﬁﬁam@ﬁmu |

Explain optical fiber cable and fiber optic modes.

7. @) O e § R i |
‘ Differentiate between a bridge and a router.
(i) wefes fefle ARQ #t frdtamt frfia |
" Write features of selective repeat ARQ.

8. Frfefae el qF ot wifirer femfirdt faferd -
Write shoft notes on any two of the foﬂowmg
1) Y e e
Cyclic redundancy check
(1) X258 TN
X.25 Interface
- (iii) wrEw
"~ MODEM

2148

@

®

(6x2)

(6x2)

(6x2)

6x2)
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